STANDARD FOUR END TERM 2 EXAM. 2018

TR

MATHEMATICS
Time: 2hrs

Write six thousand four hundred and nineteen in A.Halfpastsix -~ -
figures. B. Twelve oclock
A. 600419 C. Half past twelve
B: 60419 D. 6 o’clock
C. 6419 Work out
D. 604019 weeks days
What is the place value of 9 in 64957 6 4
A. Flundreds : +2 5

B. Tens

C. Ones

D. Thousands
497

+ 384

A. 881

B. 871

C. 1071

D. 981

What fractionris unshaded?

LT

A. 3 weeks 9 days
B. 8 weeks 9 days
C. 4 weeks 3 weeks
D. 9 weeks 2 days

A number that is divisible by two is called

number’

A.prime

B.even

C. big

D. odd
421

- 289

A.710
B.132 /
C. 369
D. 995 y
‘What fraction is shaded?
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10.

11.

12.

13.

14.

15.

16.

17.

Work out the subtract.on
36092 - 5684
A. 42653
B. 30408 S
C. 43653
D. 45653
How many days are there in 28 weeks?
A. 140 days
B. 204 days
C. 168 days

D. 196 days
There are 36845 children and 23782 adultsina

county. How many people are there altogether?
A. 60627
B. 63627
C. 61627
D. 62625
Add25+13.4+0.54
A.438
B. 538
C.3774
D. 16.44
Add 3645+ 112+ 17
A.3764
B. 3674
C.3774
D. 3647
Which of the following sets of numbers have
odd numbers only?
A. 16, 16, 18
B.12,13,17
C.11,13,19
D.9,12,15
Work out

36421
- 18

A. 61539 s

B. 11303

C. 51539

D. 13103

In a school there were 8 classes. Each class
had 47 pupils. How many pupils were there in
the school?

A. 326

B. 39

C.55

D. 376

i38.

19.

20.

21.

22.

24.

25.

ALT6

B. 36
C.23
D. 66
There are 70483 people in a village. 29392 are

" adults. How many people are children?

A. 40191

B. 99875 | .
C. 42991 >
D. 41691

What is the value of digit 7 in the nwniber
9290417

A.700

B. 70000

C.7 .

D. 7000 i

The tenth month of the yearis -

A. October

B. December

C. November

D. September - *
What is 43.46 +9.8467

A. 53.306

B. 42.206

C.14.192

D. 52.206

Six boys shared 30 mangoes equally. How
many mangoes did each boy ges?

T ee o -

~ A.180 o
B.6

C.5
D.8



rh

27.

28.

29,

%l

A

A farmer ook 324 e s to the market. 7 he
way 28 cgzs Yroke. How many eggs remained?

AL 352
B. 206
C. 304
D. 296

What fraction is equivalent to 3 ?

A.

mi; |':3|°‘

B. 3

s

3
D-14
Whatisﬁh:mmmamrinﬂlcﬁ'ncﬁon%? '
A.4and 5
B.4
C.5

4
D-‘ 5
Which fraction is the bigpest?
1 1 1
4) 5: 2'%

© 4

It‘oncbuscamu&tpassmgm How many

passengers can six buses carry?

~A.364

B.384
C. 843

.D. 343

‘Round off 99 to the nearest 10.

AL 150 . ) .

B-100 —

C. 130

\D. 149

1 have sh 36. How many books can I buy if
each book cost 4 shillings?

A. 90

_ B.441

C:9
D.114

|
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35.

36.

37.

33.

Add 462 +~ 2048 + 39
M. 09455
B. 9545
C. 9555
D. 9445
12 is amultiple of 4. What is the next multiple
of 47 :
A.8
B.20
C.24 _
D. 16
Subract
7001
- . 978

A, 6023

B. 6033

C. 6123

D. 6223 :
What fraction is not shaded?

Ty

“Which of the following pair is a factor for 202

A:2and 8

- B.3and 4

C.4and 5
D.7and 2

Whatis 4 - 3 7



39,

40.

41.

42.

- 43.

44,

45.

‘Add40+60+70 T T ¥

A. 170
B.270
C. 189
D. 200

Work out % of 32.

A.2

B.4

C.8

D.16

What is 608 + 7?

A.86rem6

B.87rem7

C.80rem8

D.87rem 1

What is the sum of the odd number between 50
and 60?

A.275

B.112

C. 265

D. 375

‘Which of these shapes is a rectangle?

C. D.

There are 40 oranges to be shared equally
among 12 children. How many oranges
remained?

A.2

B.3

C.4

D.5

Which of these numbers is even?
A.569 |

B. 453

C. 243

D. 790

46.

47.

48.

49.

50.

Work out 4)484

A. 242
B. 1021
€.21

D.121

Divide 41)868

A.21rem4l

B.21rem7 .

C.20rem 28

D.41rem7 7

How many days are there in the month of July
and August?

A.58

B. 61

G 62

D. 50
6x4x2
A.48
B. 18
C. 38

' D.24

How many packets can oc¢ * "'ed from the
bucket?

G
P _e

Y4 litre
60
litres
Bucket Packet
A.30
B. 60
C.40
P. 120





